' ARCH effect
Stationary
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ECM
B:$,B:100Y
$
(2 log)

295




($ log)

285

280f7" T
275
270
265

260

255

B:$
X 100y M '

$1:100Y ‘DM
(—* log )

42

32




[— S Fy

36

26

=80 = Fi J

1 (7,
(time vary volatility ) <,

53



B:$, :100Y

‘DM

54

0.10 004
0.08.
003
0.06
002
0.04
'l
001
0.021
0.00 z e 000 et
50 100 150 200 250 50 100 150 200
I— 5 ~1 °|
B.T B:100Y
004
0034
0024
001 4 M Hl
000 Lrees.
50 100 150 2 250
1~0
:DM
0.045 0.05
0.040
0.04.
0.035
0030 0.034
04251 0.02
0.020/
0015 L
1] { ! S SN SR 000
5 10 15 20 25 30 35 40 45 50 5 10 15 20 25 30 35 40 45 50

-0 |

B:$

006

-0, |

B:100Y

0054

0044

0034

002

001

000

Ao nnnmn

5 10 15 20 25 30 35 40 45 50
I— °l ~|
B:OM



55

50 100 B.:SU 200 250
S
at (time vary volatility )
0.0156
B:$ B:100Y  B:.DM 0.0081  0.0084
0.0161 B:$
B:100Y  B:DM 00122 0.0121
0.0203 B:$
B:100Y B:.DM 00178  0.0179
Gt Risk

Premium
B:$



51

5.1

B:$

B:100Y

B:DM

- T-stat

B:$

B:100Y

B:DM

- T-stat

ARCH effect

Weak Form

Weak Form

' $ Weak Form
11=3.6408-0.1229F,
(20.7680) (-2.2849)
+1=0.2465+0.9271 F
(5.8610) (67.7666)
+1=0.1814+0.9409F,
(6.3678) (90.9779)

Weak Form
+123.9053-0.2041 F,
(9.9967) (-1.7030)
H1=0.3448+0.8948F,
(2.5410) (20.2727)
+1=0.1361+0.9565F,
(1.5400) (29.8096)

ARCH effect
5.1
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B:$

:100Y

‘DM

- T-stat

B:$

:100Y

‘DM

- T-stat

ARCH

c )

$ Weak Form
#1=0.0567+0.981 OF,
(L.7471)(111.6571)
H1=0.1223+0.9696Ft
(3.8762) (105.3245)
t#1=0.1263+0.9644Ft
(5.3305) (125.4973)

(* )

' $ Weak Form
#1=0.2431+0.9322Ft
(1,9745) (27.9743)
#1=0.2953+0.9199Ft
(2.1983) (23.4710)
H1=0.2703+0.9193Ft
(2.7983) (29.3236)

nR2

5.2
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5.2

nR2

B
16.698
11.844
2.008

B:$
12,987
0.098
0.240

B:$
8.172
4,112
6.604

-~ o O

(& BN~ %}

LW N -

NR?
B:100Y
21.165
59.411
8.349
ARCH effect

NR?
B:100Y
16.444
0.177
0.376
ARCH effect

NR?
B:100Y
16.317
11.352
0.016

ARCH effect

—~

[& » I~

S~ o PO

B.DM
4539
40.513

8.349

B.DM
19.477
0.696
0.488

B.DM
24.664
3.495
1.424
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? ( )
ARCH
effect
ARCH effect
ARCH ARCH effect
5.3
5.3 ARCH effect
( )
I ARCH effect

B:$ Ci2=7.98x105+0.6612u,1-0.3704 2+0.4684u,3
(1.5158)  (10.5048) (-4.9566) (6.0635)
-0.1856um2+0.2084u,5-0.2077u,62+0. 191 Ou, 72
(-2.2623) ~ (2.6973) (-2.7788) (3.0146)
B:100Y  (T2=2.26x105+0.2025u,12+0.2888u, 2
(1.2893) (3.2866)  (4.5688)
+0.0196u, 2-0.1190u,4-0.0724u,62+0 4923u,92
(02123)  (-1.2824) (-0.8271) (5.8778)
B:DM CI2=2.66x10'5+0.3643u, 2+0.2644u,2
(1.3942) (3.9021) (4.0718)
-0.0585u,32+0.0899uM-0.2698u,52+0.3692u, &2
(-0.7320) (1.1281) (-3.5139) (5.1095)
. T-stat L
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ARCH effect
B:$ CJ2=0.0001 +0.5367uM>0.0589u,2
(1.9689) (3.6857) (-0.4036)
B:100Y  CJP=8.1X10 6+0.1026U,10.061 4u,2+0.6449u, P
(1.2439) (0.8465) (-0.4616) (4.8539)
B.DM <J2=7.17x10'5+0.0655uM-0.0229u,2+0.8256u,32
(0.9897)  (0.5638) (-0.1519) (5.4750)
:T-stat

ARCH effect
B:$ a,2=0.0003+0.3039U, 2+0.0819u,/
(4.7092) (4.9685) (1.3272)
B:100Y G 2=0.0002+0.21 49um2+0. 1563ut22
(4.9438) (3.4792)  (2.5354)
B.DM a 2=0.0002+0. 1748um2+0.2677u(2
(4.1539) (2.8942)  (4.4608)
 T-stat o

( )
ARCH effect

( ) ARCH



5.2 Stationary
Stationary
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Lag

lag
lag
5.4,5.5,5.6 5.7
5.4 Stationary
)
lag Akaike
B:$ B:100Y
*, F, > Ft
-9.5874  -9.8520  -9.3245  -9.2463
-0.7384  -9.9413 93311 -9.2579
-9.7285  -9.9349 = -9.3281 -9.2542
97347 -9.9408 -9.3315  .9.2560
Stationary
ADF
level 1
B:$
- -1.7773 -11.3996
. -2.6723 -13.4624
B:100 Y
* -2.9287 -6.0163
F -2.0808 -9.9621
B:DM
- -28223 -10.6446
-2.9200 -10.7070

Augmented Dickey Fuller
Akaike

Stationary

B:DM

S*1 F,
-9.2359 -9.1828

-0.2441  -9.1947

-9.2341 -9.1844

-9.2403 -0.1881

5%

-34285

-3.4286

-3.4286

-3.4286

-3.4285

-3.4286

18



Lag

55

lag

*1
-9.0909

-9.1687

-9.2255

-9.5525

B:$

B:100 Y

Ft

B:DM

Stationary
Akaike
B:$ B:100Y
Ft * F,
-10.1383  -8.5245 -8.4734
-10.0771  -8.5015 -8.4350
-10.1102  -8.6437 -8.5675
-10.0629  -8.6591 -8.5595
Stationary
ADF
level 1
-3.3173 -4.3417
0.1508 -4.1457
-1.5729 -4.2907
-0.7025 -3.7497
-1.7244 -4.3312
-2.3039 -4.9707

B:DM

-8.6189

-8.5905

-8.6320

-8.5717

Ft

-8.6077

-8.5980

-8.6506

-8.6255

5%

-3.5045

-3.5005

-3.5045

-3.5045

-3.5025

-3.5045

19



5.6
1)
lag
Lag B:$
»1
1 -7.9330
2 -7.9216
3 -7.9123
4 -7.9004
B:$
Sr,
Ft
B:100 Y
Sr
Ft
B:DM
Sr,

Stationary
Akaike
B.100Y
Ft Sr, Ft
-7.8230 -8.0166 -7.9790
-7.8118 -8.0064 -7.9686
-7.8036 -7.9944 -7.9571
-7.7922 -7.9835 -7.9454
Stationary
ADF
level 1
-1.5867 -11.0447
-1.6726 -11.1003
-1.4901 -11.3128
-1.5300 -11.2393
-1.4478 -11.0368
-1.4298 -10.9989

B:DM

Sr,

-7.9309

-7.9196

-7.9119

-7.9004

Ft

-7.9009

-7.8898

-7.8823

-7.8705

5%

-3.4285

-3.4285

-3.4285

-3.4285

-3.4285

-3.4285

80



5.7 Stationary
)
lag Akaike
Lag B:$ B:100Y B:DM
* F, 61 F, ,H F,
1 -6.6243 -6.4987 -6.7099 -6.6662 -6.6879 -6.6397
2 -6.5619 -6.4439 -6.6485 -6.6038 -6.6261 -6.5769
3 -6.5321 -6.4123 -6.6139 -6.5661 -6.5941 -6.5428
4 -6.4698 -6.3493 -6.5671 -6.5289 -6.5369 -6.4882
Stationary
ADF 5%
level 1
B:$
* -1.6823 -4.4009 -3.4987
F, -1.6062 -4.6152 -3.5005
B:100Y
* -1.6092 -4.3172 -3.4987
F, -1.4410 -4.2871 -3.5005
B:DM
* -1.5568 -4.3940 -3.4987
F -1.4607 -4.2906 -3.5005

81



Non-stationaty

Stationary Integrate 1
53 Cointegration
Stationary
Integrate 1

Engle&Granger

( ARCH-M

82

Cointegration
~  Weak Form

5.8



5.8 A ARCH-M

£ ARCH-M

B:$ 41=2.7187+0.1652F,-1.08120,

(13.2522) (2.6099) (-8.0726)

F-stat 304.1019

F-stat RE 108.6097

F-stat RP 65.1672
B:100Y y+1=0.2569+0.9239F,-0.09980,

(5.7710) (64.0857) (-0.8758)

F-stat 447.5897
F-stat RE 221.3042
F-stat RP 0.7671
B:DM #1=0.1994+0.9347F,-0.10950,

(5.3246) (69.9875) (-0.8235)

F-stat 292.5082
F-stat RE 124.3006
F-stat RP 0.6782

:T-stat
RE

RP Risk Premium



F-stat

F-stat

B:$

F-stat
RE

RP

B:100 Y

F-stat

F-stat

F-stat

F-stat

F-stat

RE

RP

B:DM

F-stat

:T-stat

RE

ARCH-M

H1=3.1478+0.0329F+0.8867at
(4.8594) (0.1639) (-1.3795)
42.3189
19.7366

1.9030

H1=0.4022+0.8765F+0.1513(7,
(2.7643) (18.5944) (-0.4505)
39.4240
14.5636
0.2029
~1=0.0187+0.9944F t+1.5044(7,
(0.2025) (30.2021) (3.3440)
31.1496
0.3090

11.1826

RP Risk Premium

84



F-stat

F-stat

B:$

F-stat

B:100 Y

F-stat

F-stat

F-stat

F-stat

F-stat

B:DM

F-stat

:T-stat

RE

RP

85

(")

ARCH-M

H1:=0.0561+0.9836Ft0.4152a,

(1.6742) (103.5571) (-1.5296)

35.5620
RE 1.5108
RP 2.3399
H1=0.1406+0.9625F,-0.3609CT,
(4.2113) (92.6506) (-1.0984)
92.5707
RE 14.7272
RP 1.2066
,+1-=0.1395+0.9579Ft0.3896C7t
(5.7446) (116.0854) (-1.5841)
77.6714
RE 21.3553
RP 2.5094
Risk Premium



F-stat
B:100Y

F-stat
B.DM

F-stat
- T-stat

Cointegration

ARCH effect

Cointegration

Augmented Dickey Fuller

Stationary

Akaike

Stationary

Weak Form
t#1=0.2431+0.9322Ft
(1.9745) (27.9743)
3.1312
t#1=0 2953+0.9199Ft
(2.1983) (23.4710)
11.3843
#1=0.2703+0.9193Ft
(2.7983) (29.3236)
13.7147

ARCH effect

( )
Weak Form
lag
lag
5.9,5.10,5.11

5.12

ARCH-M
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5.9 Cointegration
lag Akaike
Lag B:$ B:100 Y B:DM
etH et eH1
1 -9.6417 -9.3334 -9.3071
2 -9.7842 -9.3529 -9.2798
3 -9.7722 -9.3619 -9.3379
4 -9.7648 -9.3875 -9.3402
Stationary
ADF level 5%
B:$
eHL -1.9587 -1.9409
B:100 Y
eHL -4.9692 -1.9410
B:DM
-6.4728 -1.9411



5.10 Cointegration

lag Akaike
Lag B:$ B:100 Y
eH eH
1 -9.0521 -8 5040
2 -9.3308 -8.6887
3 -9.4936 -8.6881
4 -9.4272 -8.6787
Stationary
ADF level
B:$
ot -2.2055
B:100 Y
i -5.8120
B:DM

o4 -5.0999

B:DM

eH

-8.7293

-8.6686
-8.6024

-8.5418

5%

-1.9481

-1.9480

-1.9478



5.11 Cointegration
( )
lag Akaike
Lag B:$ B:100 Y
e H1
1 -7.7632 -7.9999
2 -7.7549 -7.9887
3 -7.7535 -7.9771
4 -7.7619 -7.9763
Stationary
ADF  level
B:$
ot -9.4572
B:100 Y
el -10.6175
B:DM

oHL -10.5785

B:DM

e HL

-7.9524

-7.9435

-7.9319

-7.9284

5%

-1.9409

-1.9409

-1.9409

89



512
(
lag
Lag B:$
eHL
1 -6.6396
2 -6.6009
3 -6.5403
4 -6.5224
B:$
etd
B:100 Y
@&H
B:DM
etH

Stationary

Cointegration
Akaike
B:100 Y B:DM
etH @H
-6.7326 -6.7373
-6.6979 -6.6974
-6.6503 -6.6436
-6.6151 -6.6452
Stationary
ADF  level 5%
-4.4968 -1.9473
-4.1191 -1.9473
-4.3053 -1.9473

90
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Domowitz&Hakkio (1985)

" £ ARCH-M

SHl=a +bFt+cdt

a=c=0 b=1
Domowitz&Hakkio at Risk Premium ?
F-stat 304.1019
Risk Premium ! F-stat 42.3189
Risk Premium
100
F-stat 447.5897
Risk Premium F-stat 39.4240
Risk Premium
F-stat 292.5002 Risk
Premium F-stat 31.1496

Risk Premium



Risk Premium

Risk Premium

Premium

92

F-stat 35.5620
F-stat 3.1312
Risk Premium
100
F-stat 92.5707
F-stat 11.3843
Risk Premium
F-stat 77.6714 Risk

F-stat 13.7147
Risk Premium

5.13



B:$
B:100 Y

B:DM

5.14

5.13

Risk Premium

F-stat

13

Risk Premium

a=0, =1
c=0
83-86

93



5.14
B:$ RE, RP RE
B:100 Y RE RE
B:DM RE RP
'RE

RP Risk Premium

Risk Premium
Risk Premium

B:-DM

2
Risk Premium

2
RP RE
RE RE
RE RP RE
5.14
Risk Premium

ECM

%4



5.4

ECM

Error Correction Model

Cointegration
Cointegrate

9

ECM

ECM



5.15

aeM
bAF,
dAC),
ans,
PAT,
6AaM

F-stat
F-stat RE
F-stat RP

- T-stat
RE
RP

B:$
AS”’
1.35x10'6
(0.0311)
-0.0484
(-1.6682)
-0.0518
(-0.6218)
-0.3067
(-2.6720)
-0.0026
(-0.0246)
-0.1720
(-2.6193)
0.4023
(3.0803)
268.3966
2142721
50.0356

Risk Premium

ECM

B100 Y
AS”’
0.0004
(-0.6537)
0.4086
(-1.1998)
0.6607
(L.0158)
0.3725
(-1.8349)
0.4723
(-0.6988)
0.1389
(-2:3934)
0.6912
(3.4131)
9.2752
41142
117775

BDM
As*
0,0003
(-0.4129)
0.2501
(-0.6392)
0.1576
(0.2137)
02741
(-1.5295)
0.1904
(-0.2493)
0.1423
(-0.8734)
0.1621
(-0.8734)
5,342
6.0705
1.2058

96



B:$ B:100 Y B:DM
As,, As, As,,

0.0008 0.0007 -3.95x10%

(0.9486) (0.2927) (-0.0115)

aeM -0.0976 13772 0.9681
(-1.6723) (-1.9921) (-1.3953)

= 0.5169 0.7742 0.2994
(2.8797) (0.3244) (0.1577)

dAC, 0.6796 0.2317 1.0107
(1.6054) (-0.6650) (2.9687)

aAst 0.5749 0.4574 0.6661
(3.9574) (0.1865) 0.3292)

PAT,, -1.5615 0.1689 0.0528
(-10.4567) (0.8668) (-0.2868)

0ACT 1 1.2904 0.2271 0.4639
(3.1459) (-0.6600) (-0.8804)

F-stat 96.8882 0.2598 76113

F-stat RE  85.2506 0.2839 0.0621
F-stat RP 10.5155 0.2700 5.7077

- T-stat
RE

RP Risk Premium



aeM

bAFt

dA(Tt

aAst

PAf,,

bAa,l

F-stat
F-stat RE
F-stat RP

- T-stat
RE
RP

B:$
Asy,
0.0012
(1.0673)
-0.0564
(-0.4381)
0.1852
(0.7859)
-0.2554
(-0.9799)
-0.0742
(-0.2996)
0.0076
(0.1266)
0.55%4
(2.1767)
11,7035
11,5114
3.2467

Risk Premium

(3

B:100Y

Asy,
0.0003
(0.2813)
-0.3367
(-0.7948)
-0.9260
(-0.6426)
-0.1433
(-0.3848)
1.3479
(0.9264)
-0.0011
(-0.0168)
0.4577
(1.2365)
1.0000
0.8509
0.8223

B.DM
Asy,

-4.60x10'6

(-0.0352)
0.9438
(-2.1975)
2.9230
(L.6964)
0.6435
(2.0682)
1.9868
(-1.1357)
0.0368
(0.5941)
0.1642
(0.5336)
1,0464
0.3390
.3857

98



B:$
s,
0.0015
(0.2679)
ae, 1 -0.6294
(-1.4893)
bAFt 0.3164
(0.3766)
dAa, -
a Ag’ 0.5357
(0.6076)
PAfm -0.0725
(-0.5131)
8Actl -
F-stat 0.6229

:T-stat

-a=h=1 d:a:p:8:0

F-stat

Risk Premium

B100'Y
As, 1
-0.0007
(-0.1300)
-0.8465
(-1.3018)
48231
(-0.6332)

6.0363
(0.7915)

0.0036
(0.0247)

0.9392

268.3966

Risk Premium

BDM

A,
0,002
(-0.3414)
1.1365
(-L.9727)
36461
(0.4113)

2.3662
(-0.2618)

0.0054
(0.0381)

0.5539

F-stat

99

96.8882



100

F-stat 9.2752

Risk Premium F-stat

Risk Premium

F-stat 5.3429
Premium F-stat
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